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*Section 7.6 Tree Diagrams g

Recall that an OUTCOME is the result of an experiment or action.

Some experiments have two or more actions
Like Rolling a die and tossing a coin

Like Tossing two coins

Definition of Tree Diagram

> A tree diagram shows all the possible outcomes of an event.

> All possible outcomes of an event are shown by a tree diagram.

Let's do a tree diagram for the foIIowm% (Always list the possible
Rolling a die labeled 1 to 6 and to smg coin outcomes)
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Tree Diagrams

You can find the possible outcomes for any given events using either a chart or a
tree diagram.

Two events are independent if the results of one event does not depend on the
result of the other event.

Ex) Spinning a spinner is an independent event, the result from the first spin has no

effect on the second spin.

We can use a tree diagram to list all possible outcomes with independent events.
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Let's Make A Tree Diagram
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Using Charts and Tree Diagrams

May 27, 2024

You can find the possible outcomes for any given events using either a chart or a

tree diagram.

Two events are independent if the results of one event does not depend on the

result of the other event.

Ex) Spinning a spinner is an independent event, the result from the first spin has no

effect on the second spin.

We can use a tree diagram to list all possible outcomes with independent events

Tree Diagram
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Make a tree diagram ? xQ) xZ = 12%W

For dinner you have 3 choices; pizza, hamburger or fries, there are 2 choices for the
drink; milk or qrange juice and there are 2 choices for dessert; yougurt or ice cream.
=

Tree Diagram
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You can also use a table or chart to find all possible outcomes.
Table or Chart
Dinner Drink Dessert
Possible Outcomes Pizza | Hamb| Fries | Milk | OJ | Yougurt |Ice Cream
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Class/Homework
LIST THE OUTCOMES

pg. 287 # labce, #2,#3, #4, #5,

5 (& e

Test in 2 days time
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